ST UDY LODENTRE

TNPSC GROUP, IT & ITA
SIMPLIFICATION WORK SHEET

6 NEW 1 1.3

7 OLD 1 1.1t01.8

7 NEW 1 1.1to1.6

8 OLD 1 1.1,12,13

Simplification 8 NEW 1 11,12

9 OLD 2.2

9 NEW 2 3.2

10 OLD 3.11

10 NEW 34,3.5,3.6
1. (atb)2=a2+ b2+ 2ab

9 ﬂ ] am—n
2. (a-b)2=a2+b2-2ab a
3. a2-b2=(a+b) (a-b) 10. (@ x b)r=anxbn
4. (a+b)2-(a-b)2=4ab 11. (gyzil
b) b

5.(@a+b+c)2=a2+b2+c2+2(ab
# b + ca) R
6. a®+b?=(a+Db) (a2-ab + b?)

13. Jx=x"2
7. a%-b3=(a-Db) (a2 + ab + b?)
14. ﬁﬂzx%

8. am x gn = gmn
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15. Yx=x" . B - J[E
Vb
16. ac = 1 (where a # 0)
22, ()" =a"
17. an=21
a

23. Un'a ="a
18. amn=fam

24. (@a-b-c2=az+b2+c2-
i , 2ab + 2bc - 2ca
19. (va) :(a%) =a
25. (a+b)2+ (a-b)2=2 (a2+b?)
20. Yfab=Ya. b

BODMAS Rule:
BODMAS

B Bracket

O of

D Division

M Multiplication
A Addition

S Subtraction

Modulus of a Real number :
Modulus of a real number a is defined as

la| = {aifa>o
-a, if a < 0)
thus |7| =7;and |-7|=7
26. a®+b3+cd-3abc=(a+b+c)(a2+ b2+ c2-ab-bc-ca)

27. (a + b)® =a3+ 3a?b + 3ab2 + b3

28. (a -b)*=a?-3a%b + 3ab2 - b3
X + %= a; then
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Virnaculum (or) BAR:
When an expression contains virnaculum, before applying the
'BODMAS' Rule, we simplify the expression under the virnaculum.

Level -1
1. 108+360f 1+ 2x31
4 5 4
a. 3 b.1 L c.13 = d12 8
4 20 10 10
2. 2-12-{2-2)(2+2)}] =7
a.-4 b. 4 c.6 d. none of these
3 180x15-12x20 _ 7
" 140x8+2x55
1 4
a. = b. = c.2 d. 4
7 5
4, 52_-3 g 2=1
a. 2 b. 3 C. 7 d.3
3 2 18
5. §of ﬂof Eof 21 of 504
5 7 9 24
a. 63 b. 69 c. 96 d. 84

6. Buy how much is three fifth of 350 greater than % of 210
a. 90 b. 110 c. 120 d. 210
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STUDY CENTRE

[APP9 Lu]

CHENNAI

350 @60 Mba cpeim UBE Sergn 210 6 % RIS I 6161166

SIHHLD?
a. 90 b. 110 c. 120 d. 210
7. What is the value of $+Q if P=7
(P-Q Q
a l b. 2 c. 4 d. !
3 3 3 8
P_ . (P+Q) . -
5 7 eleoflen F-0) 6T D& ?
a. : b. 2 .t d. !
3 3 3 8
8. %:ﬂ, then the value of 22+
3 6a—5b
a. -1 b.3 c.4 d.5
%z%, 61601160 (:;J_rgs 6T LI
a.-1 b.3 c.4 d.5
— A’ s
9. 3 =4land b/ 15/ then ol
a. % b. %5 . % d. none of these
v e .
%— y, %:1%6 sT6aN60 S o & ?
a. ¥ b. 7/ c. 3 d. BeuBnied e1gIa|LOs0meV
10.  (0.000729) ** x (0.09) 4
a. @ b. ﬁ C. ﬁ d Q
3 3 3
Level - I1
11. 27 +\12=
a. V39 b.5 6 c.53 d. 35
12. 51mphfy (561x56;.g;(31><31)
a. 530 b. 561 c.31 x 31 d. 592
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13.

14.

15.

16.

17.

18.

(561x561) —(31x31)

G(Hh(GH Sb: £30
a. 530 b. 561 c.31 x31
. . 729 =327
simplify: %
2
a. - b. 87, c. 8 d. %
3729 -327

F(HBGHP: —f———
GO 3512 +3/343

b. 8/, c. 8 d. %

a.

(SR

If 4x + 5y = 83; and %:%,theny—x =7

a.3 b. 4 c.7 d. 11
4x + 5y = 83 wipib 2_;‘/:2 5 arafled Y - X &1 Logliiy?
a.3 b. 4 & 7 d. 11

[999% +999% + 999$+999; + 999? + 999%} is simplified to

a. 2997 b. 5979 c. 5994 d. 5997

F(HhHGHS: 9991 +9993+999§+999ﬂ+999§+9999
7 7 7 7 7 7

a. 2997 b. 5979 c. 5994 d. 5997
When (2\/5 2 )2 is simplified, we get
a. 4J5+242 b. 22-4410 c. 8—-410 d. 210-2

(2\/5—\/5)2 BHHT FHBIFW GUQEILD
a. 4/5+22 b. 22-410 c. 8-410 d. 2y10-2

034+0.34 =
a. 0.687 B. 068 C. 0.68 d. 0.687

x = J5+2then find the value of x%%
a. 23 b. 21 c.18 d. 29
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19.

20.

21.

22.

23.

24.

. 1 . . .
X = \5+2 atafled x>+ 1 DFH iDL HTEwIE.
X

a. 23 b. 21 c. 18 d. 29

simplify: 2472x532x3+/50

a. 304115200 b. 72002 C. 144002 d. none of these
G(Hh(GH Sb:
a. 304115200 b. 720082 c. 144002 d. Bambied ergiaLilsdemev

Simplify: (7 Va -5 +b) (7 Ja+5b)

a.7a2-5b2  b.49a-25b c.49a2-25b2  d. (7Va-5¢b)
FhH&H®: (7 a -5 \b) (7 Ja+5b)
a. 7a2 - 5b2 b. 49a - 25b c.49a2-25b2  d. (7/a-5¢b)
e B\
simplify : foe2 o2
a.-2 5 b. 2.6 @, —*/54 d. \/_%4
AN
F(HE(GD: R
a.-2 5 b. 2.5 C. —f% d. \/544
X+% = 2 then X3+%(3
a. 8 b.2 c.6 d. 4
x+%(=26r66ﬂ61') X3+%(365T LDAIILY
a.8 b. 2 c.6 d.4
24 =4.899 the value of \@ is
a. 0.544 b.1.33 c.1.633 d. 2.666

y - % = 6 find the value of y3 - %3

a. 216 b. 222 c. 234 d. 228
Ry s . :

y % 6 ey y %3 &1 G

a. 216 b. 222 c. 234 d. 228
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25.  simplify: (147+ %2)2 ~(147- %2)2 =

a.7 b.5 c. 147 d. 14
F(H G B (147+ %2)2 —(147— %2)2=
a.7 b.5 c. 147 d. 14
Level - 111
26. find the value of a, b it j_jjr;:a 7+b

a.a=4% b=1 b.a="11/;b= 4,
C. a:—43b:—1% d. a:—%;bzl}é

-2
+2

a.a= 4% b=1 b. a="11/;b= 4/
c. a="44b=-11/ d. a="44;b=117

4

a, b uler wHlienLl Hmeu. =a\7+b

4

4445 45 _ \
27. T aiE a + b5 find the value of a and b.

j+://_§_j_://_§= a+ b5 eafed a, b e wHiI BT SN,
- +
a'a=1/b=0 b.a=0,b=_1_116
ca=1b=2 d.a=0b=18
11 11
28. If x = {3+1, find the value of (x—%)2
a. \3 b. 3 c.2 d. 4
X = \/§+1 6160116V (X—%()2 60T LDQ{JH?
a. \3 b.3 c.2 d 4
: e X +8
29. simplify: TS
LZ X—2 X+2 X—2
T X2+ 2x+4 T x242x+4 " _ox+4 C X ovid
Gi(H&GHSb: %
X" +4x°+16
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X+2 X—2
" x2+2x+4

30. Find the value of V5443

J5-3
a.3+ J15 b.4 + 15
ﬁtfi &1 L]
a.3+ J15 b.4 + 15
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T X2 42x+4

X+2

" x2-2x+4

c.2+ 12

c.2+ 12

d.4+ V12

d.4+ V12




